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Compound	Inequalities			Answers	
		
Solve	for	the	variable	and	graph	the	solution	on	the	number	line.	
	

1.						−3 < 𝑥 + 5 < 14		 2.							𝑦 − 2 < −7			𝑜𝑟			 /
01
< −4		

	
										−8 < 𝑥 < 9		 															𝑦 < −5			𝑜𝑟			12 < 𝑦	
	
	
	
																					–8																					9	 																									–5		 					12		
	
	
	
	
3.				−5𝑚 > 15			𝑜𝑟			𝑚 − 11 > −3		 4.						−7 < 6

7
< 9		

	
															𝑚 < −3			𝑜𝑟			8 < 𝑚	 										−28 < ℎ < 36	
	
	
	
	
																								–3																					8	 																							–28		 					36	
	
	
	
	
5.					5 − 𝑘 < 1				𝑜𝑟			𝑘 + 2 ≥ 3𝑘 − 2	 6.					5 + 2𝑤 < 6				𝑜𝑟		7𝑤 − 3 > 11	
	
	
															4 < 𝑘			𝑜𝑟			𝑘 ≤ 2	 															𝑤 < >

?
			𝑜𝑟			2 < 𝑤	

	
	
	
	
	

																										2																					4	 																											>
?
	 	 						2	

	
	
	
	
	



	

	

7.					−15 < 5𝑞 ≤ 20	 8.						−5 ≤ 3𝑎 − 4 < 17	
	
										−3 < 𝑞 ≤ 	4		 															−>

1
≤ 𝑎 < 7		 	 	

	
	
	
	
																								–3																					4	 																				−>

1
	 	 					7	

	
	
	
	
9.					7𝑝 − 1 > 𝑝 + 11			𝑜𝑟		 − 11𝑝 + 8 ≥ 41	 10.					−14 < 3𝑧 + 7 ≤ 19		
	
	
															2 < 𝑝			𝑜𝑟			𝑝 ≤ −3	 																	−7 < 𝑧 ≤ 	4	
	
	
	
	
	
																								–3																					2	 																				−7	 	 		4	
	
	
	
	
11.						>

1
𝑤 − >

E
< >

?
				𝑜𝑟				 1

F
𝑤 ≥ G

F
+ 2	 12.					−35 ≤ 24𝑥 + 13 < 85		

	
	
															𝑤 < 2			𝑜𝑟			5 ≤ 𝑤	 																	−2 ≤ 	𝑥 < 	3					
	
	
	
	
	
																										2																					5	 																											−2						 										3	
	
	
	
	
	
	



	

	

	
13.					−27 ≤ −3 𝑚 + 5 < 18	 14.					−6 ≤ H0I

7
< 2		

	
																										−11 < 𝑚 ≤ 	4		 															−15 ≤ 𝑘 < 17			
	
	
	
	
	
																											–11																				4	 																									−15						 									17	
	
	
	
	
	
15.				−5 < 2 2 − 𝑓 + 1 ≤ 9	 	 16.					K01

0F
< 𝑥 − 1			𝑜𝑟			 K0E

1
≥ 𝑥 + 4	

	
										−2 ≤ 𝑓 < 	5		 																						7

1
< 𝑥			𝑜𝑟			𝑥 ≤ −9	

	
	
	
	
	
	
																		–2																						5	 																											−9						 									7

1
	

	
	
	


